ERGAEGEE/INEIRA

PFA/JO

EHiRE FRI& Size (mm)
Part Number M ) K

31000J0040070006  M4x6 6.82 2.8
31000J0040070008  M4x8 6.82 2.8
31000J0040070010 M4x10  6.82 2.8
31000J0040070012 M4x12  6.82 2.8
31000J0040070016  M4x16  6.82 2.8
31000J0040070020 M4x20  6.82 2.8
31000J0040070025  M4x25  6.82 2.8
31000J0040070030  M4x30  6.82 2.8
31000J0040070035 M4x35  6.82 2.8
31000J0040070040 M4x40  6.82 2.8
31000J0050080006  M5x6 7.82 3.5
31000J0050080008  M5x8 7.82 3.5
31000J0050080010  M5x10  7.82 3.5
31000J0050080012  M5x12  7.82 3.5
31000J0050080016  M5x16  7.82 3.5
31000J0050080020  M5x20  7.82 3.5
31000J0050080025  M5x25  7.82 3.5
31000J0050080030  M5x30  7.82 3.5
31000J0050080035  M5x35  7.82 3.5
31000J0050080040  M5x40  7.82
31000J0060100006  M6x6 9.82
31000J0060100008  M6x8 9.82
31000J0060100010  M6x10  9.82
31000J0060100012 M6x12  9.82
31000J0060100016  M6x16  9.82
31000J0060100020  M6x20  9.82
31000J0060100025  M6x25  9.82
31000J0060100030  M6x30  9.82
31000J0060100035  M6x35  9.82
31000J0060100040 M6x40  9.82
31000J0080125010 M8x10 12.78
31000J0080125012 M8x12 12.78
31000J0080125016  M8x16  12.78
31000J0080125020 M8x20  12.78
31000J0080125025  M8x25 1278
31000J0080125030 M8x30 12.78
31000J0080125035 M8x35 1278
31000J0080125040 M8x40 12.78
31000J0080125045  M8x45 1278
31000J0080125050  M8x50  12.78
31000J0080125055  M8x55 1278

Ul U1 U1 U1 U1 U1 U1 U1 U1 U1 U w
W W wwwwwwwwwHEPrEAMEREDMAMDIDBG

EHiRE
Part Number

31000J0080125060
31000J0100150010
31000J0100150020
31000J0100150025
31000J0100150030
31000J0100150035
31000J0100150040
31000J0100150045
31000J0100150050
31000J0100150055
31000J0100150060

hr#EPRAE BIENLT

g
M

M8x60

M10x10
M10x20
M10x25
M10x30
M10x35
M10x40
M10x45
M10x50
M10x55
M10x60

Size (mm)

) K
12.78 53
15.78 6.4
15.78 6.4
15.78 6.4
15.78 6.4
15.78 6.4
15.78 6.4
15.78 6.4
15.78 6.4
15.78 6.4
15.78 6.4



	Sheet2

